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General Instructions :

(i)  This question paper contains three parts A, B and C.

(ii} PartAis compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.
(iv) All parts of the questions should be attempted at one place.
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HT-&%
PART - A

(RIS Wt e weafat & fone daie)

(Accounting for Partnership Firms and Companies)

‘T WRER B ¥ et § =1 s o
What is meant by ‘Reconstitution of a Partnership Firm’ ?

TR, A e S T # A 3, 2 0 3 e ot s A 3 1 o ohe
| W #i & A 9 WEER % A SRR 5 o A |

2 1
X, Y and Z are partners sharing profits in the ratio of %, 5 and 7. Find the new ratio of

remaining partners if Z retires.

TR B AT B & SR W OWRER F WO T CwEER B F waer § et
T |

Distinguish between ‘Dissolution of Partnership’ and ‘Dissolution of Partnership
Firm’ on the basis of closure of books.

WA / T TR & SRR Wt 1 wfy % e W 3 st st B § 0

Why heirs of a retiring / deceased partner are entitled to a share of goodwill of the
firm ?

‘TG B 3 FARY |

Give the meaning of ‘Debenture’.

WO G T oivlt =t 9 ) e arfeeam aft o . Rt e o e & 2

What is the maximum amount of discount at which forfeited shares can be re-issued ?

HIE T Ryw ST ok e wffr s % w7 wre ol s ST e o
TFTE |

Give any one purpose for which the amount received as ‘Securities Premium’ may be
utilised.



8. WeiHl ud gie uh w H WEER 9 747 7 : 3 % SFUE B A 1 SEAN F W § | A 4o
THH: T 2,00,000 T4 2 1,50,000 €t 1 1 T8, 2013 F A aﬁﬁaﬁuﬁrwﬁﬁ%ﬂm%

fore o AT WERR % v A waw a1 el 2 1,00,000 G % w9 F AR | B el
1 YedisA ST qor AR & EY I IRTT oFeAl & Y snevas Aemer afateat
FIT | - 3
Saloni and Shrishti were partners in a firm sharing profits in the ratio of 7 : 3. Their
capitals were ¥ 2,00,000 and T 1,50,000 respectively. They admitted Aditi on 1* April,

2013 as a new partner for L share in future profits. Aditi brought ¥ 1,00,000 as her
6 P

capital. Calculate the value of goodwill of the firm and record necessary journal
entries for the above transaction on Aditi’s admission.

9. sl fafres ¥ 1 awie, 2012 % T 100 ¥&F % 2,000, 12% Foma H o fwar | e
R Qo w9 @ AR gan | Frie @Y vt & SFUR SRUTGE W S STHEns SR W30
T @ 31 A S 39 T & o WA W/ H B w2 10% €
31 |, 2013 T FATE 81 At sl % o S @ e o o 9 it e
T -1 foerer § WRRE A Savas A viatedt g | 3
BG. Ltd. issued 2,000, 12% debentures of ¥ 100 each on 1* April 2012. The issue was

fully subscribed. According to the terms of issue, interest on the debentures is payable
half-yearly on 30™ September and 31% March and the tax deducted at source is 10%.

Pass necessary journal entries related to the debenture interest for the half-yearly
ending 31% March, 2013 and transfer of interest on debentures of the year to the
Statement of Profit & Loss.

10. Fr=fefes il & srevas o waltedt S 3
() sfafRs 3 T 100 7% F 1500, 12% Forgst, fwe v 6% 93 o= o e o,
7 9YE $ T 100 TOF & GHar Siw o uiafan e fma | wwan ofen & € 25 wid
3ty % arfyemy W Feifoe fpam T an |
(i) U ERRT S T 100 9% % 1,000, 12% ForaEt, fer foime 3 10 i soras & ag
o¢ TR T o, W 3% T 100 WeOw % gEar sien S T 90 wia ofw wew €, §
uftafad #ve o |

Pass necessary journal entries in the following cases :

(i) Z Ltd redeemed 1500, 12% debentures of T 100 each issued at a discount of 6%
by converting them into equity shares of T 100 each issued at a premium of ¥ 25
per share.

(i) X Ltd. converted 1,000, 12% debentures of T 100 each issued at a discount of
¥ 10 per debenture into equity shares of ¥ 100 each, T 90 paid up.
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Satnam and Qureshi after doing their MBA decided to start a partnership firm to

manufacture ISI marked electronic goods for economically weaker section of the

society. Satnam also expressed his willingness to admit Juliee as a partner without

capital who is specially abled but a very creative and intelligent friend of him, Qureshi

agreed to this. They formed a partnership on 1% April 2012 on the following terms :

(i)  Satnam will contribute T 4,00,000 and Qureshi will contribute 2,00,000 as
capitals.

(i)  Satnam, Qureshi and Julice will share profits in the ratio of 2: 2 : 1.

(ii1) Interest on capital will be allowed @ 6% p.a.

Due to shortage of capital Satnam contributed Z 50,000 on 30™ September, 2012 and

Qureshi contributed T 20,000 on 1% January, 2013 as additional capitals. The profit of

the firm for the year ended 31% March, 2013 was 2 3,37,800.

(a) Identify any two values which the firm wants to communicate to the society.

(b) Prepare Profit & Loss Appropriation Account for the year ending 31" March,
2013.

R, o o it oo vt F e o e 5:3:2% oM & et )t fieg 7w
%&:31%,2013%@@@%-%@%%%

31 A, 2013 %1 e, frore wet v ot feerfiy oy
- T ‘ T

. (4 LS
Tt 2,00,000
e 3,00,000 3,00,000
fawre 2,50,000 1,10,000
Tmr 1.50,000 | 7,00,000 1,00,000
=T 60,000 80,000
LSEity 1,10,000 80,000
8,70,000 8,70,000
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Virad, Vishad and Roma were partners in a firm sharing profits in the ratioof 5:3 : 2
respectively. On March 31, 2013, their Balance Sheet was as under :
Balance Sheet of Virad, Vishad and Roma as on March 31, 2013

13.
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Liabilities Am;““t Assets Am;““t
Capitals : Buildings 2,00,000
Virad 3,00,000 Machinery 3,00,000
Vishad 2.,50,000 Patents 1,10,000
Roma 1,50,000 | 7,00,000 | Stock 1,00,000
Reserve Fund 60,000 | Debtors 80,000
Creditors 1,10,000 | Cash 80,000
8,70,000 8,70,000

Virad died on October 1, 2013. It was agreed between his executors and the remaining
partner’s that :

(a)

1
Goodwill of the firm be valued at 25 years purchase of average profits for the

last three years, The average profits were T 1,50,000.

Interest on capital be provided at 10% p.a.

Profit for the year 2013-14 be taken as having accrued at the same rate as that of
the previous year which was ¥ 1,50,000.

Prepare Virad’s Capital Account to be presented to his Executors as on October 1,
2013.

1 3, 2012 # T 1,00,00,000 F st Goit % g T fefires =1 Fmior foar v it
Z 50 =% & 2,00,000 TEer 3w § frfea € | wAr A 1,80,000 3R % forw wfemwor
fyifirer = e STt fr | Frme frr v @ ST O

(b)
(©)
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(31 HEE SfubrEE, 1956 # aRenfee GRoN-VI 9171 % SER FEE & Rt e §
‘FA G |
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On 1% April, 2012 Vivek Ltd. was formed with an authorized capital of ¥ 1,00,00,000
divided into 2,00,000 equity shares of ¥ 50 each. The company issued prospectus
inviting applications for 1,80,000 shares. The issue price was payable as under :

On Application : ¥ 15
On Allotment : 20
On Call : Balance amount

The issue was fully subscribed and the company allotted shares to all the applicants.
The company did not make the call during the year.

Show the following :

(@)  Share capital in the Balance Sheet of the company as per revised Schedule-V] —
Part-1 of the Companies Act, 1956.

(b)  Also prepare ‘Notes to Accounts’ for the same.

w%@gﬁmﬁﬁmﬁﬁﬁ%mmmmﬁﬁﬁﬁm:

(30) W%ﬁé@ﬁ%ﬁﬁﬁé@ﬁ?l%ﬂ%ﬂ%ﬂﬁ?ﬁﬁ%ﬂlwmﬁ
% 100 W & THaT 3l @) 10% % =g W Frifi e yram fear m

(M m%ﬁé@#%m%fﬁqé@ﬁn,so,moﬁﬂﬁrwwwwaﬂm;mﬁ
?2,20,000@%1!131??10m%wmwmﬁmwmnﬁrmé‘$§m
RT 87 a1 | wrfet a3t frefie @ gt o -
T TF "R T 90,000; W5 T 90,000 fafay 9w @ 30,000; =% T 50,000,
% T 20,000; ffay SR 220,000 1

Pass necessary journal entries for the following transactions in the books of Rajan Ltd :

(@) Rajan Ltd. purchased machinery of ¥ 7,20,000 from Kundan Ltd. The payment
was made to Kundan Ltd. by issue of equity shares of ¥ 100 each ar 10%
discount.

(b) Rajan Ltd. purchased a running business from Vikas Ltd. for a sum of ¥ 2,50,000
payable as ¥ 2,20,000 in fully paid equity shares of ¥ 10 each and balance by a
bank draft. The assets and liabilities consisted of the foliowing :

Plant & Machinery T 90,000; Building T 90,000; Sundry Debtors ¥ 30,000;
Stock % 50,000; Cash % 20,000; Sundry Creditors ¥ 20,000,

T, HRA T BT w S W & St e 6 o6 13 5:3:2 % oo & ot
FOAEENT B W G | 1 e, 2012 B IR Tt s % 2,00,000; X 3,00,000 e
% 6,00,000 < | SHIEE § Wz A9 % A% W AR Y A v @ e ded o)
TR F3 7 ol o )
w%%qqaﬁaﬁlfﬂﬁmzmzaﬁwﬁﬁ?lo,oooaﬂm%maﬁm#tﬁﬁﬁmaﬁr
Wmﬁaﬁmnz,om%wﬁwaﬂrmﬁ%ﬁﬁﬁaﬁzﬁmugﬁaﬂﬁm#
1 ST, 2013aﬁaﬁivﬁ@?z,oo,ooowmﬁmaﬂwwwhaaﬁaﬁﬂﬁw
Hlowmt 7o H F AT o v e 9t |
H@mﬁdﬁ@%aﬁwmwuﬁﬁéé%aﬁwﬁmmmlaﬁwmmw
& 1T qE I T R STRROT WT = T8 o | SETTE qENE gt S qar
mﬁmﬁﬁwwﬁmmnﬂﬁﬁqﬁmﬁmﬁﬁqﬁﬁmrwaﬁ
TR T R | .
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Naveen, Seerat and Hina were partners in a firm manufacturing blankets. They were
sharing profits in the ratio of 5 : 3 : 2. Their capitals on 1% April, 2012 were
T 2,00,000; X 3,00,000 and ¥ 6,00,000 respectively. After the floods in Uttaranchal, all
partners decided to help the flood victims personally.

For this Naveen withdrew T 10,000 from the firm on 1% September, 2012, Seerat,
instead of withdrawing cash from the firm took blankets amounting to ¥ 12,000 from
the firm and distributed to the flood victims. On the other hand, Hina withdrew
¥ 2,00,000 from her capital on 1* January, 2013 and set up a centre to provide medical
facilities in the flood affected area.

The partnership deed provides for charging interest on drawings @ 6% p.a. After the
Final Accounts were prepared, it was discovered that interest on drawings had not
been charged. Give the necessary adjusting journal entry and show the working notes
clearly. Also state any two values that the partners wanted to communicate to the
society.

WWW@W&%WQM4:1%W1§W€@Q | 31 THE, 2013 W
3T feafe faaror 0= wepre 4

31 |YY, 2013 T TR QT Gaar w1 iy faaor

TER 45,000 | S 55,000
FHAN ST 40,000 | &R 60,000
HAT M <o @il 65,000 | @i 85,000
it - e 1,00,000
wif=T 2,00,000 | TG 1,30,000

e 1,00,000 | ¥nf=<T & &1e] @I 20,000
4,50,000 4,50,000

IaUe fats =i w1 g 8 T

(1) T = =ik &1 40% ST T G&is 5o O 10% 7 §oq T & o/ agn 99 e &l
% 40,000 ¥ 31 T T | R | € 80,000 T & |

(2) ek fafrai o fereee srar gt & =@ femar e e € 20,000 o &= R v + weied
=l T 60,000 F F T =1 =T | '

(3) WI § T 55,000 W §C |

(4) T = U faer s a1 fees fee 219,000 1 e # T )

FGF QAT TR FHT |
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Shanti and Satya were partners in a firm sharing profits in the ratio of 4 : 1.
On 31" March, 2013 their Balance Sheet was as follows :

Balance Sheet of Shanti and Satya as on 31 March, 2013

Liabilities Am;’““t Assets Ameunt
Creditors 45,000 | Bank 55,000
Workmen Compensation Debtors 60,000
Fund 40,000 | Stock 85,000
Satya’s Current Account 65,000 | Furniture 1,00,000
Capital’s : Machinery 1,30,000

Shanti 2,00,000 | Shanti’s Current Account 20,000
Satya 1,00,000
4,50,000 4,50,000

On the above date the firm was dissolved :

(1) Shanti took over 40% of the stock at 10% less than its book value and the
remaining stock was sold for ¥ 40,000. Furniture realized ¥ 80,000

(2) An unrecorded investment was sold for ¥ 20,000. Machinery was sold at a loss
of T 60,000.

{3) Debtors realized T 55,000.
(4) There was an outstanding bill for repairs for which ¥ 19,000 were paid.
Prepare Realisation Account.

17. ieA O TRV U EH H WK 9 St ol ®t 3 : 2 % oo o fonnfee #a € 1 1 e,
2012 T TTERA H IHH TH WERR & o0 § & § yaw o + o6 fofe ot aew oo e w
fearfer foraor Frera ar

1 30, 2012 T WET T4 w2 W 7 Ffer famwor

TR 2,10,000 | % 58 1,40,000

FHar afegfa ffy 2,50,000 | &R 1,60,000

WA S99 1,60,000 | i 1,20,000

it LRiC 1,00,000

e 1,00,000 T 2.80,000
TR 80,000 | 1,80,000

8,00,000 : 8,00,000

67/1/1 8



7% ot g for
() o T W 1 Peq H: T 3,80,000 997 ¥ 1,60,000 T T W |
(i) e sl fafir @ aifees T 2,30,000 e faar |
(iil) O o @l % s % forw T 1,00,000 T W |
(iv) ST THIHT T8 TS B A IR O @ o e i e &
5 ot I51 e we mRer Y g S ¥ 209 % s @ S |
) uﬁm-ﬁmmmmﬁmmm:ﬁﬁ%ﬁw,m%ﬁwww%ﬁm|
ﬁiamm,mﬁ%iﬁ@ﬁw%w&mﬁwﬁrﬁmwﬁwaﬂﬁmwmm
TS st = o W e 'Y @ g
HeraT

T, PHR T HTT UH FH H ARRR S o S 3: 1 : 1 % 3 7 freforg v o |
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[RCIY 1,20,000 { Us 70,000

34 foer 1,80,000 | ¥R 2,00,000
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i ww 2,20,000
FHIA 3,00,000 FHET 1,20,000
FAR 2,80,000 o 3,00,000
e 3.00,000 | 8,80,000 | gfy 4,00,000
13,00,000 13,00,000
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Mohan and Mahesh were partners in a firm sharing profits in the ratio of 3 : 2. On
1% April, 2012 they admitted Nusrat as a partner in the firm. The Balance Sheet of
Mohan and Mahesh on that date was as under :

Balance Sheet of Mohan and Mahesh as on 1* April, 2012

Liabilities Am;’““‘ Assets Am;‘““
Creditors 2,10,000 | Cash in hand 1,40,000
Workmen’s Compensation Debtors 1,60,000
Fund 2,50,000 | Stock 1,20,000
General Reserve 1,60,000 | Machinery 1,00,000
Capitals : Building 2,80,000

Mohan 1,00,000
Mahesh 80.000 | 1,80,000
8,00,000 8,00,000

It was agreed that :

@
(ii)
(iii)
(iv)

v)

The value of Building and Stock be appreciated to ¥ 3,80,000 and % 1,60,000
respectively.

The liabilities of workmen’s compensation fund was determined at ¥ 2,30,000.
Nusrat brought in her share of goodwill ¥ 1,00,000 in cash.

Nusrat was to bring further cash as would make her capital equal to 20% of the
combined capital of Mohan and Mahesh after above revaluation and adjustments
are carried out.

2 1
The futore profit sharing ratio will be Mohan %‘h, Mahesh £, Nusrat g‘h.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of the
new firm. Also show clearly the calculation of Capital brought by Nusrat.

OR

Kushal, Kumar and Kavita were partners in a firm sharing profits in the ratioof 3: 1: L.
On 1* April, 2012 their Balance Sheet was as follows :

Balance Sheet of Kushal, Kumar and Kavita as on 1% April, 2012

Liabilities Am;’““t Assets Am;’““t
Creditors 1,20,000 | Cash 70,000
Bills Payable 1,80,000 | Debtors 2,00,000
General Reserve 1,20,000 | Less : Provision _ 10.000 | 1,90,000
Capitals : Stock 2,20,000

Kushal 3,00,000 Furniture 1,20,000
Kumar 2,80,000 Building 3,00,000
Kavita 3.00.000 8,80,000 | Land 4,00,000

13,00,000 _ 13,00,000

67/1/1
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On the above date Kavita retired and the following was agreed :

(i)  Goodwill of the firm was valued at ¥ 40,000.

(i) Land was to be appreciated by 30% and building was to be depreciated by
< 1,00,000.

(1ii) Value of furniture was to be reduced by ¥ 20,000.

(iv) Bad debts reserve is to be increased to ¥ 15,000.

(v) 10% of the amount péyable to Kavita was paid in cash and the balance was
transferred to her Loan Account,

(vi) Capitals of Kushal and Kumar will be in proportion to their new profit sharing
ratio. The surplus/deficit, if any in their Capital Accounts will be adjusted
through Current Accounts.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of Kushal
and Kumar after Kavita’s retirement.

18. maﬁﬁg%ﬁqﬁ#?100m,%40,000ma?ﬁa%6%%a§wﬁﬁﬁa$ﬁ%m
raea e fRd | i e yer & 3 o 8
I T @AW — T 90 4R aiy
W T SARTH AT W~ R gy
60,000 3f¥it % foe e et @ 110,000 sivt & st #t W ¢ ey | T 3TAEH
W ITIRF AR W 9 B e e T | FERT T AET WO SR o
TR B T Yo T 2P A R i S w5 o T | Tt T oy wi e
dt | T iR R 50 mﬁ%%qmm%mm,mqéaﬁqmuﬁrmw
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XYZ Ltd. invited applications for 40,000 equity shares of ¥ 100 each at a discount of
6%. The amount was payable as follows

On Application and Allotment ~ T 90 per share
On First and Final call — the balance amount,

Application for 60,000 shares were received. Applications for 10,000 shares were
rejected and shares were allotted on pro-rata basis to remaining applicants. Excess
application money received on application and allotment was adjusted towards sums
due on first and final call. The calls were made. A shareholder, who applied for 50
shares, failed to pay the first and final call money. His shares were forfeited. All the
forfeited shares were re-issued at X 97 per share fully paid up.
Pass necessary journal entries for the above transactions in the books of XYZ Ltd.

OR
AB Ltd. invited applications for issuing 75,000 equity shares of ¥ 100 each at a
premium of ¥ 30 per share. The amount was payable as follows :
On Application and Allotment — % 85 per share (including premium})
On First and Final call — the balance Amount
Applications for 1,27,500 shares were received. Applications for 27,500 shares werc
rejected and shares were allotted on pro-rata basis to the remaining applicants. Excess
money received on application and allotment was adjusted towards sums due on first
and final call. The calls were made. A shareholder, who applied for 1,000 shares,
failed to pay the first and final call money. His shares were forfeited. All the forfeited
shares were reissued at ¥ 150 per share fully paid up.

Pass necessary journal entries for the above transactions in the books of AB Ltd.

et -9
PART-B

(Fereti Ryt =1 fargmiwom)
(Financial Statements Analysis)

19, eFs VT FeEeT SR T RS T T ?

20.

21.

What is meant by ‘Cash Equivalents’ while preparing Cash Flow Statement ?

Ag o Taaor S F R H Foed HiAY |

State the objective of preparing ‘Cash Flow Statement’.

‘ﬁ?ﬂﬂﬁﬂ@ﬁﬂ?ﬁ&ﬁﬂm’ﬁ%ﬁﬁ@:ﬂmwmﬁwl

State any one limitation of ‘Analysis of Financial Statements’.
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Ho arfufr, 1956 ®F e-VI, W-I%Whﬁwn%mswﬁdﬁ%mﬁﬁwﬁé

S 3
(i) sofsw e

(i) T R

(iii) e fealt (ol 3 fore e

(iv) 318 wmaier

(v)  31e9-37afiy or

(vi) w¥EL-amafy o )

Under which major sub-headings the following items will be placed in the Balance
Sheet of a company as per revised Schedule-VI, Part-] of the Companies Act, 1956 :

(1) Accrued Incomes

(ii) Loose Tools

(iii} Provision for employees benefits

(iv) Unpaid dividend

(v)  Short-term loans

(vi) Long-term loans.
TS wiafaw ffivs & 31w, 2013 W 5T T & ey emraty fragor ? T
F-FI Freor S sif - 4

ot AT 2013-13 201;-12

T | 3 20,00,000 | 15,00,000

AT 7Y 16,00,000 { 4,00,000

=g 21,00,000 | 15,00,000

3T T T 50% o |

From the following ‘Statement of Profit & Loss’ for the year ended 31% March, 2013,
Prepare a “Comparative Statement of Profit & Loss’ of Good Services Ltd.

Particulars Note No, 2015 13 201; 12 |

Revenue from operations 20,00,000 | 15,00,000

Other Incomes 10,00,000 4,00,000

Expenses 21,00,000 | 15,00,000
Rate of Income tax was 50%.
(30 ﬁm%ﬁaﬁmﬁ‘m-mmm’ﬁmﬁﬁq: 2+2

IR o7
T ST
e 3T
e fcarafaat
ey wfae

T
2,00,000
1,00,000

50,000
3,60,000
90,000
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(a)

(b)

T fafirds w1 =] SR 2 1 ¥ | R Wi oo it i etanad w9-e @
ST & (i) ghg A ; (i) e @ A (i) RS e T e :
(1) =i SEast § € 9,000 %1 0F 29 faor afinfaa a1 | oitge g ) SE

T S feat T
@) FEET I E 10 weds ¥ 1,00,000 AT S B I 557 TS AR b fersban
=t foman |
From the following information, compute ‘Debt-Equity Ratio” :
3
Long term Borrowings 2,00,000
Long term Provisions 1,00,000
Current Liabilities 50,000
Non-current Assets 3,60,000
Current Assets 50,000

The current ratio of X. Ltd is 2 : 1. State with reason which of the following

transaction would (i) increase ; (i) decrease or (iii) not change the ratio :

(1) Included in the trade payables was a bills payable of ¥ 9,000 which was
met on maturity.

(2) Company issued 1,00,000 equity shares of ¥ 10 each to the Vendors of
machinery purchased.

5. ol faftds & 31-3-2013 @97 31-3-2012 % Fefer foraror o <t i el o MUK W e
vae fereoT $I ity ; .
frarar A | 31-3-2013 | 31-3-2012
&t L4 4
1. Wl ua 3gaTs
(1) sfwrar Fafer
(3 e R 2,10,000 |  1,80,000
(@) Ea T AR 1 1,32,000 24,000
(2) ae T
(37) S /0T 1,50,000 |  1,50,000
(3) =] FEan
(37) SN 3qAd 75,000 27,000
T 567,000 |  3,81,000
1. wmfaat
(1) Ir=e gefwat
(37) TR Tt
(i) T gwreEr 2,094,000 | 2,52,000
@ o9 A 48,000 18,000
(2) =] wwfwat
(30 = fafrT (o) 54,000 60,000
@ wefaar ‘ 1,07,000 24,000
(@) =i Wit 40,000 17,500
@) JHE T IHE T4 24,000 9,500
E 567,000 | 3,81,000
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AT -1
foraor 2013 2012
4 4
W U e
SR (Fr-aTh freor =1 v 1,32,000 | 24,000

Prepare a Cash Flow Statement on the

basis of the information given in the Balance

Sheets of Liva Ltd, as at 31-3-2013 and 31-3-2012:
Parti Note | 31-3-2013 | 31-3-2012
articulars No. z z
1. Equity and Liabilities
(1) Shareholders Funds
 (a) Share Capital 2,10,000 | 1,80,000
(b) Reserves & Surplus 1,32,000 24,000
(2) Non-current Liabilities 1
(a) Long term-borrowings 1,50,000 1,50,000
(3) Current Liabilities _
(a) Trade Payables 75,000 27,000
Total 5,67,000 3,81,000
I. Assets
(1) Non-current Assets
(a) Fixed Assets
(i) Tangible Assets 2,94,000 2,52,000
(b) Non-current Investments 48,000 18,000
(2) Current Assets
(@) Current-Investments (marketable) 54,000 60,000
(b) Inventories 1,07,000 24,000
(c) Trade Receivables 40,000 17,500
(d)  Cash and Cash-equivalents 24,000 8,500
Total 5,67,000 3,81,000
Notes to Accounts :
Note -1
Particulars 2013
4
Reserves and Surplus
Surplus (balance in statement of 1,32,000 | 24,000
profit and loss)
67/1/1 15
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£
PART -C

CULCAERSElE L))
(Computerized Accounting)

st S 4 3 T e o W & T s ¥ 7

What is meant by ‘procedure’ as a component of Computerized Accounting System ?

T, (SQL) T E 7
What is SQL ?

FRo & Far sifimma €2
What is meant by ‘Table’ ?

ST SRETE STl T IS 0 o ol & S e |

Give one advantage and two limitations of Computerised Accounting System.'

“rpEpiTe (Reeitaet) T D ey P FHERY |

Explain ‘Sequential’ and ‘Mnemonic’ codes.

2oy e 97 ¥ FRl =T o S TRy |

Explain any four advantages of Data Base Management System.

ﬁﬂﬁi@awﬁﬁwmﬁm%fm@%ﬁwxﬁﬁmm:

(30 w‘%ﬂﬁuﬁ%%@,qaﬁm?zo,mm15%aﬁatﬁamsﬂﬁw20%aﬁarﬁ|
) ¥ % T 20,000 T 3 T AT 9T 20% T THH FH 25% TH |

@) T 3o ¥ o e e 8 TS R SERT o 3 HFH |

Calculate the formulae from the following information on Excel for computing the
amounts for :

(a) Dearness Allowance, Basic pay upto X 20,000 at 15% and above it at 20%.
(b) Tax payable, Basic pay upto ¥ 20,000 at 20% and 25% above that.

(c) Net Salary, adding Dearness Allowance and deducting Tax payable from Basic
Pay.
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